
 

 

SOLVE THE FOLLOWING EQUATION 2 

 

1.                                                    2. 

   

 

 

 

 

 

 

 

3.                                                                                        4.                                                              

                                                 

 

 

 

 

 

 

 

5.           6.   

 

 

 

 

 

 

 

 

7.                     8.  

 

 

 

 

 

 

 

 

 

 

SUCHI BANSAL 

 

 

𝐬+𝟑

𝟒
 = 900 

 

-2R - 34 = -200 

3093 = 13+ 7A 
70 = -40 + 

𝐙

𝟐
 

 

𝟑(𝐑+𝟑𝟎)

𝟑
 = 30 

𝐕−𝟐𝟐

𝟓
 = 1 

 

4(J-733) = 133 5M + 115 =454 


